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Active & passive :Jo4x0 9 polro

o gl 50 g Cowl Lastie (HIS ousds plail) o Jelbb a5 ol (gl alox :polro dlos iy p25
The earthquake destroyed the building EOW PRV |

(0,5 olpa 1y pleaslo ol A3 .cunl (48,5 olpg Jos Jebb &3ty Jlo cul 5o

)lfdfsm»|)J9a§.05¢«m|oMébQT&alJ.clédSwh_g‘dloq J oo abos x5
o] o..\.oT&LLo.?‘_gL.\J;g‘ 30 Jebd o a (ouds plxil OT 9

The building was destroyed by the earthquake .

Sl (3055 olpg Joe Joxio lodslu JUo (w40

polto s o Jgio +DE alox iloj b @ilbaot (ot Job Jgsio ot W geme Sl LSl

WS (0 gk 933 Jou @illao De Joeme Do o

Active: They write the letters. Am, is, are ool Jl> s

Passive : The letters are written
Active: They wrote the letters. Was , were ool A ad obe;

Passive : The letters were written
Active: They are writing the letters. Am s are + being

Sl Ji e
Passive :The letters are being written
Active: They were writing the letters. Was , were + being

6l o] ALBAS e

Passive :The letters were being written

Active: They will write the letters. Will be ool oo | obes
Passive :The letters will be written
Active: They are going to write the Be going to be be & Llel ool -l
letters. A
going to
Passive: The letters are going to be
written
Active: They have written the letters. have /has been Jels > ol
Passive :The letters have been written o)
Active: They had written the letters. had been Jols 338 Lo

Passive : The letters had been written .
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pR931g8 ) o ¥ yol 5
Tag question: : (oligS pd)aowond ¥ gw
2(oligs pd)downio ¥ gw o 93,18
alguaad 8 anli 590 g Culidlgo ouigids lawgi |y 395 Wilor g Ol ki uslgsu ousy o5 o5 2
WS (o0 oliiwl WYlguw 95 (510 0 (ot Egoge S Lo
1-Reza is a student, isn’t he? 2-They can't speak English, can they?
2(0ligs PO)Aownid ©Wgw 3 590 3O pao WIS
! o Jlgas 0 ably (ko wils aloxr )T g (o Jlgaw 0 Al Cao wily aloxr 513 &S
Reza is a student, isn’t he? They can't speak English, can they?
D o0 00l pawl (gl a3 LB yuous 31 Jlgww 03 40 ¥ &SI
Reza is a student, isn’t he? They can't speak English, can they?

Jb oyloy 5o il ailus 51 Jg oLbogs I abl andls Ko J2b alos 51 Jlgw o3 j0  FaSS
oS o0 oolastwl did 31 aidS yloj yo 9 dO/dOES jf ool

Ali lives in Bam, doesn’t he? The men spoke English, didn’t they?
Dgd oo oaliiwl el plod sl> asthere sgs 3l 0gd £49,05 there b wil alos 51 3P 4SS
There is a lot of traffic, isn’t there?
a Jlgw pd y0 058 g9, these/those b this/that s yie o) Lil peus b wils ales 51 2 4SS
oS (50 sslazwl they ;| &2 0L s > W g it 5 S 30 0yl yous s>
This is a dictionary, isn't it?

Those are not tigers, are they?
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S Clog ¢ all ails 9429 (Never/hardly/rarely,...) e cboud vk oo o ,51 37 &S
Jlgws 03 31 ol aiisls 3929N0 0Ne/ body/nothing (T wlus 5 o( No/fewl/little) e o5
The old man can hardly walk, can he? oS o0 o3laiw! Cudo
He never goes to the library, does he?
Mina has few friends, does he?
We have little time to go to the stadium, do we?
Nothing bad happened, did it?
no one /everyone/everybody/someone/somebody/ /no body wid ales Jebé ,512Y 4SS
3 yio yowd 31 bl €Verything/nothing/nothing vl ales> Jeld )51 9they zes jows 31 aily
Everybody knows Dr. Sami, don't they?
Somebody has called, haven't they?
Nobody phoned, did they?

Nothing is left, is it?
awl@M I N0t L garen’t T 7 Jlgw 03 595 g9pi | aM b o) alos 512 &S
I am a teacher, aren’t I?
Dgs o0 ool WIll YOU 31 ¥ lgus 03 50 siio pol Mo (610 3 4SS

Don't come late, will you?

Never try to frighten me, will you?
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(Relative clause) Jgogo @ b ¥ wyd | wol 5 E90 90
2lod 31 (b g Wl (oo ol S5 5l amy 45 09 oo AiiS File 4 3T 9090 O LS R 2
WS o0 o |y pwl § 39 o0 Juaio pwl 4 ... g WHO Whom , Which Jgoge
The boy who play soccer is my brother
.ol 4l Jeld i g udl olwsl ool alos Jof 4o 45 ol ,51 Who b (Jgog0 O bs
09y o0 4wy S
(Jebb i ,0) oylwdl guol + WNO + J28 + alos anld
The man who plays golf lives at No. 10.
.0l Al Jerio (i g wdl (yludl ool o Jgl 30 a5 cowl )51 tWhom b (Jeo g0 @ bs
09y o0 4w S
(Jgrio indls 30 ) ybadl sl + WNO + Je b+ alos anld]
The woman who(m) you met yesterday is coming to dinner.
@ybe Jeb (i g wil lud! pud ool alos Jgl 5o a5 ol )51 Which b g0 g0 @ L
09y 0 )1 4 i JKb anall alls 1) Loy
(Ul 285 ,0) lwd! pué ol + WHICh + 28 + alos aolo
The cat which lives near us was drinking milk.

Jh .ol albls |y Suog wyle J,&oﬁgﬁl{glﬁd‘)ﬁiouiw“]ﬂ)oAS‘S.D.M:‘;‘g

B9y o )5 p)

(Jgrio (i ,0) bl gu quol + WHICh + el + alo aols

R TRTRTRTRITATRTRTRRRTRR
nRRRRRRTRRRRRRRRRRnRRRRRRRRRRRRRRRRnRnRRnRRRonRRnnRnRnRn

efodefedodedeododedodetdodedodefdodeddoddodefdeded dedoddoddd=fd=fd-]]|



(e odedodedodedodedodedodedodedodedodedodedodedodedodedodd dd doddddddJd ] ]

ithat b S goge & ks

sl aunil b lal 1550 @)l 4 g 0 4 4 Jaoge plowd oled sl arthat Jgoge raud
| found the keys that I lost yesterday. vl that Jeoge
09,5 Sdo g (o 1y Jgog0 plad Cog 42

to ULML»M)A.Q ')W C)T u‘y‘sod.ul.uto be J:.élgo‘ro.b GJ.CLé 6.‘9.»09.0):'.0.»0 olfj.ib {
S,5 Bis be
I saw a man who is climb a tree.
I saw a man climbing a tree.
b wole ,Kily oy wybe Jg wil osolitODE o b ol pods Al Jg0g0 plows ol ya (Y
AT o0 00l Jlo &yguo 4y o] Jxd Y gozo 45 bl i
The students who study Arabic here are all clever.

The students studying Arabic here are all clever.
O SR
ol oo @)yg0 g0 4 1O DR Jab g Jgog0 e Bio yg0 50 oy ©yles J2b
el 09 @ ylae 5099 polro (5 0B LS 4T 418 NG W yguo 45 (I
el (g @ las (099 Jatmo (5 ok i 45 (PP) Jb pgus Cnmnd 3 y500 41 (2
The students who study Arabic here are all clever.
The students studying Arabic here are all clever.

The boy who was taken to hospital was my brother.

The boy taken to hospital was my brother.
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P90 E9 P ONo 1Y uy0 ¥ pol 5 E g0 g0

13 £ b 3 Ve sl
L, al o> , L, 5 s N
ifr el 84 Jméa i385 Jel— s+would + soluw Jab
If you came we would  play
P30 €9 P2 U3 S0 0

P90 &9 P v (b g DN 8 59,15
Mo gy cpl 3l Sl Yo a> 43,5 plouil Jloiol g 039 (2l gl 4F Cowl 1S 3550 50
W oS (o0 e pd Sl 1) p9 £9 (b b

If you studied hard, you would pass the exam.

R 5 -y lowiol oo dilas S s bl 451
30w (0 Jgu8 s dilgs (o0 () Y

P30 &P By D> o SIS
oz 33 LolS 3929 900 (2l il 50 9 99 (o0 Sk LolS' wuily aloo Sl b plb g 5T:) A
Lol o3 o o
You would pass the Exam if you studied.
3,5 sslazwl o Might g could sl (@3l oS Jladl plw 31 oylgi o0 by Glg 40 1Y AT
You could pass the Exam if you studied.
31l of oolw andds 5o (oldsl plod (gl paayo 9 g0le Jlgy S 0 by alazr yo ¥ xS
S solazwl Were

If I were you | would travel to Europe.
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b S5 Jlad! Jgamo 2 ¥ w8 ) p0! ) E90 90
WS ardllao 1y ()0 50 Jotmo 9 palro oo 390 50 fusl yo Lo
20280 SoS bt 1418 o> 31 Jgemme cMos cilu 5 092

Jexée +Will/can/may/should/must+ be + p.p

Active: They will write the letters.

Passive: The letters will be written

JolS &ldS t ¥ g0 ¥ ol 5 £90 g0
2ol Jb boj LSl
Jels + had + = pgu Coound
s ol Al yloy (Flgw LSl
had+ Jebs + Jab pow coouns?

il abex Jol 1y Nad (oS Jod (10,5 Jlgw 5l adn (o0 LS Lo )0 45 4igSilon
: JolS &S iyl
Jed +had+not + f28 o guw Coound

o 43L5! 1, N0t o wd had KaS J2d a1 8,5 o (gl st (00 L L 40 &5 4ipSilons

1 Jol Alds loy 40 5 (o 09

g (g0 dor i (Wd9 0921 3920091 SO9pO9 + (Jgrite Cho ) (B (oSbo L
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s ol Ads yloy sbro o8

il eolidl BLT 6, %08 Joe 3l Jud aiidS 0 oS o, A

When my dad got up, | had eaten my breakfast

g 0995 |y pl dilmo (pocdds Hlug oy &5 (Sloj

ALl dolol anidS jo ;K50 Loe 010 plouil b g oouds &9 p 45 0 a5 Aoe by sl p Y

|
Ali had lived in Paris before he studied art there
LxiT )0y axdlian 1 Jud gy 00,5 (Sij maly 50 e
ol 03L3) BT ALBAS H0 a5 os Ly Yo
| had lived here before he came.
932 09,5 (S Ll po by gl &5 (0 51 S
s(past prefect ) Jol5 4bds oylo y Aadeino pis
Wyl bl 1) 205 Heeiee slo, LS L
s olot DEfore+ostn acids
s Slot WhEN+oslw aiisds
oolw abdS+ because+uuss ool
oolw abds+ after+uws ook

@) for(;5,») never g (a5 op! oo 4) 8S SO0N aS( 536 4 ) just g (1) sLxo 4 already

1S Cds Ll 4 (51) since(wow
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She had never seen a bear before she went to the zoo.
When | sent the book to her, she had already bought it.
She had just left the scene when the car arrived.

As soon as she came, he had finished his homework.
They had known each other since they were children.

We had lived in Shiraz for 15 years before we moved to Qom

eSS Ly o ales gl Y ol ) ey Sl
ol o0l ol Ao 1505 Sylac 4 adl Jad g Jelb g1yl Jolas a5 ! alos 108by dlod i 23

Example: Ali went ol Al Jiwe & yle S A

~gbut,and , S0 wiile by gy g Jorho 3 Jolbb G 5l s b (of alox 30 p0 Ao By %5
Hleslaiwl b ool alos Wiz b 90 oS 55 31 Ygomo a5 wicwd Mo, 0 Wyjle & 0sugS |,

Ji> 99,00 3929 Jod g Jeld O 31 oy 8 po WMoz )0 1500 W)lee 4 058 (o0 Sl by Olols
Oyl J2d S5 g JeB SO o conl o o s0lw alos a5 (0

:aNd by 4olS 31 03kl b o5 o SHo>

4.5 o (Addition)aslsl wiles 4 guuus Wledlbl a5 Wil o0 €9 Sxo 4 Luy d4oldS oy
el Jgl S sl cluwlur! g Loslzd Logos

| get up early in the morning, and | make an omelet myself.
(OUT Ly 4ol 31 08wl b 5 yo o>
bl oo (CONtrast)wgls g slay ovsds ;yLliv a5 il o0 <L Sxo 4 by y dodS oy

The book was boring, but Tom had to read it.
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105 &y aods 31 ookt b o8 o Moo
o 1y (Choices)as 35 g0 b bl 90 o Moz Egi ol jo 45 aibly o0 €b»  Jxo a3 Ly y dods !
200 9)

You should do your homework, or you should wash the dishes.

0 ) 4 (b b ez 50 4 0,10 4,5 (o 4,0 potio S OF Ly By 35595 &9

Al oo (43,59 =0ther Wise) b g (i 59 =0r €lSe) xo po OF Ly By 8,5 (0l jo.59,
You have to leave now, or you will miss the train.
We need to be there by 8, or (else) we will find it hard to park the car.
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Saeed studied hard for the exam, so he passed it.
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My brother stayed at home yesterday. He watched TV. (and)

My brother stayed at home yesterday, and he watched TV.
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My brother stayed at home yesterday he watched TV. (and)

My brother stayed at home yesterday and watched TV.
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Which of the following question does the passage answer?
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